Estimator of the total at the Legal Unit (LU) level: 
The estimators are those of expansion, adjusted for the lack of response, changes in stratum and excess coverage.
The estimator of the total of a characteristic X in a domain d (any subgroup of the population, which does not have to coincide with the strata) is given by:

Where:
·  : number of sample LUs of the domain that respond to the survey.
· : is the value of characteristic X of the LU j belonging to domain d.
· : is the elevation factor of the LU j and for its calculation proceed as follows:
a) If the LU j was selected in a stratum h and according to the questionnaire data it is found in a different stratum k, then the elevation factor F j is the one initially associated with the LU j, that is:

Where Nh is the number of LUs in the initial population (DIRCE) of stratum h and nh is the theoretical sample size in h. 
b) If LU j continues to belong to the same stratum h where it was selected, then the elevation factor Fj is estimated taking into account over-coverage, non-response and stratum changes as follows: 

Where:
· : Number of LUs in the sample from stratum h that respond and have not changed stratum.
· 
Being:
: Number of LU samples from stratum h with a duplicate or out-of-scope incidence of the type.
: Number of LUs selected in stratum h, and which are in a different stratum k, according to the questionnaire.
c) In general, for exhaustive or outlier LUs, 

Estimator of the total at the level of the Statistical Unit Enterprise (SUE):
The estimator of the total for characteristic Y in a domain d is given by the following expression:

Where:
·  : number of SUE belonging to domain d that respond through some of their sample LU to the survey .
· : is the value of characteristic Y of SUE i belonging to domain d .
· : is the elevation factor of the SUE i and is calculated, first applying indirect sampling as follows:

Being:
: Number of LU j of the SUE i  contained in the Profiling
: Number of LUs in the sample of SUE i
: LU j elevation factor in stratum h 
And second, applying a calibration, so that the estimator of the total R&D expenditure at the LU level coincides with the estimator at the SUE level.  

